()

Read the numbers (decimals) on the following number line.

7777777777777777777777777777777777

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

0.2 0.5 0.9
0 1 1 1 1
| ! ! ! ! | ! ! ! ! |
0 1 1 1 1
| ! ! ! ! | ! ! ! ! |
0.03 0.05 0.08
0 1 1 1 0.1
| | | | | | | | | ! |
0 1 1 1 0.1
| | | | | | | | | ! |
0.001 0.004 0.009
0 ¢ 1 1L 0.01
| | | | | | | | | ! |
0 i) 1 1 0.01
| | | | | | | | | ! |

()

Read the numbers (fractions) on the following number line.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

4.35 x 4

1 2 3
4 4 4
0 1 1 1 1
| | | | |
0 1 1 1 1
| ! ! ! ! ! |
0 1 1 1 1
| | | | | | | | ! |

7777777777777777777777777777777777

7777777777777777777777777777777777

218 x 45

01 10 ‘
Multiplying 0.1 by 10 gives

001 10 |
Multiplying 0.01 by 10 gives

001 25
Collecting 25 0.01 gives

62 8
785 0
,,,,,,,,,,,,,,,,,,,,,,, S
3
315 = 05 425 + 05

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

3.0
1:5
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()

Read the numbers (decimals) on the following number line.

Calculate the following.For division, make the divisor an integer.

0.1 0.5 0.8
0 1 1 1 1
| | | | | | | | | | |
0 1 1 1 1
| | | | | | | | | | |
0.02  0.04 0.07
0 1 1 1 0.1
| | | | | | | | | | |
0 1 1 1 0.1
| | | | | | | | | | |
0.003 0.006 0.009
0 L L L 001
| | | | | | | | | | |
0 1 L Il 0.01
| | | | | | | | | | |

()

Read the numbers (fractions) on the following number line.

L . #‘H
— - -b‘l\)

_ﬁb‘w

0 1 1 1 1
| ! ! ! ! ! ! |
0 1 1 1 1

0.01 10 !
Multiplying 0.01 by 10 gives

0.01 100 ‘ |
Multiplying 0.001 by 100 gives "~~~ """~~~

0.01 120
Collecting 120 0.01 gives

20 05 205 30 07
2.0 .0
00
2105
40 1.7 38.3 60 25
400
107
3.8.3
271x5  13.55 7.65 x 2
207 1
X 5
1:3.5:5
271x52  14.092 3.15 x 5.2
207 01
x 1 152
5142
1:3:5:5
1.4;0:9:2
3
3
38+ 05 3.15 + 05
38+ 5 7.6
1T 6
5)3 8 |
3.5
310




Read the numbers (decimals) on the following number line.

0.2 0.4 0.7
0 1 1 1 1
| ! ! ! ! | ! ! ! ! |
0 1 1 1 1
| ! ! ! ! | ! ! ! ! |
0.02 0.04 0.07
0 1 1 1 0.1
| ! ! ! ! | ! ! ! ! |
0 1 1 1 0.1
| | | | | | | | | ! |

Read the numbers (fractions) on the following number line.

1 3 6

8 8 8
0 i i} i} 1
| | | | | | | | |
0 i i} i} 1
I . . I
0 1 i} i} 1
| | | | | | | | | |
0 1 1 1 1 2
| I I I A | | I I I | |

0.1

Multiplying 0.01 by 100 gives ===~~~ ‘

10

0.01

Multiplying 0.01 by 10 give§

10

0.01

Multiplying 0.01 by 100 gives‘ ””””””” ‘

100

0.01

Collecting 150 0.01 gives

150

300 05  300.5 200 0.1
3.0:0:.0
00
3:0:0,5

40 06 39.4 50 0.2

400
0.6
3.9 .4
432x5 216 5.25 x 8
4.3 2

x -
2:1.6:0

25x 95  237.5 12 x 9.5

25

x 9.5

1215
21215
213175
1
1
57 <+ 06 1.92 +~ 06
57+ 6 9.5
9
S
54
310




Calculate the following.For division, make the divisor an integer.

19 1.25 38 3.14
20.25
R N N T OO O O IR
37 10.6 42 7.3
26.4
S R R N N R
3.14 x6 243 x 4
18.84
< i X
ORI T N O OO O IO IO
125 x 0.4 324 x 0.5
50
X ; X
UL T T TN (NN NN O U N A
3.14 x 25 218 x 4.5
7.85
X i X
3
3
3.15 = 05 425 = 04

R e e el e EEE R

7777777777777777777777777777777

3.15 8 35.6 7.45
78.3 6.4 8.89 4.6
2.828 x 2 1.732 x5
< X

125 x 0.4 324 x 0.5
PX PX

14.14 x 7.5 20 x 0.707
PX PX

******************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

*******************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

534 = 0.6

R e e el T R S

8.26 +~ 0.2

7777777777777777777777777777777




2
Calculate the following.For division, make the divisor an integer.

3.14 28 2.449 69

31.14
37.2 21.03 93.1 8.01

16.17
,,,,,,,,,,,,,,,,,,,
9.5 x 12 422 x 9.5

114
X X
6.4 x9.5 9.5 x 25

60.8
x B X

2
2

6= 64 6 = 49

60 = 64 0.94

Calculate the following.For division, make the divisor an integer.

2

574 46 25.9 690
37.2 18.31 48 19.12
1600 x 9.5 9.5 x 300
LX) LX)

4000 x 9.5 16.7 x9.5
LX) LX)

******************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

*******************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

285+ 95

114 = 95

|
ffffffffffffffffffffffffffffffffffff

|
777777777777777777777777777777777777

'
************************************

'
************************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,




Calculate the following.For division, make the divisor an integer.

2

Calculate the following.For division, make the divisor an integer.

2

271 39 587 78
41.71
Sl odeirial | bbb
77777777777 39,
4 701
31 17.15 65 821
13.85
EEEDEEEEE R
77777777777 17,15
3.8 5
300 x 9.5 400 x 9.5
2850
777777777777777 3000
x 9.5 x4
5.0 0
,,,,,,, SEITIT
2085 i0i0f b
8.2x95 6.4 x 25
77.9
77777777777777777777 8.2
M 9.5 x4
41 0
et |
TiTie ol
2
2
58+ 0.6 74 + 06
58+ 6  9.67
777777777 Cleleieiel|
777777 ér) 58 ‘ )
77777777 sial
a0 ‘
S e [ o
40
7777777777777777777 FH I A
‘ 400 ‘

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

2.23 59 2.65 98
46.2 18.21 45.2 29.47
64 x 9.5 9.5 x 25

PX PX

600 x 7.4 1.7 x1.8

PX PX

330 = 0.6 1.9 = 06

|
ffffffffffffffffffffffffffffffffffff

777777777777777777777777777777777777

'
************************************

'
************************************

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,




Divide the two loaves into large pieces of the same shape.

2 3
1 2 |
E 1 J2 [s |
2 1 11 1 1
3 2 2“3 2 6
2 5
| |
| |
2
5
2 7
| |
| |
2
7
Divide three loaves into large pieces of the same shape.
3 10
2 s fa |
5 e [z J8 |
o Jio | |
3 1 11 1 1
10 4 2 10 4 20
3 5
| |
| |
| |
3
5
3 4
| |
| |
| |
3
4

4 5
1 2
3 4
E [1]2]3]a]s]
L 2 |3 [a s
4 1 1 1
5 2 2 5
1 1 1
2 10 5
5 7
1 E
3 |4
s B
7 EEEEEER
|
5
7
3 7
L 2 3 |
4 E E |
7 | [7]e]s]al3[2]1]
3 1 1 1
7 84 12
6 7
1 |2 |
3 |4 |
E E |
7 E |
E s 4 |
3 2 1 |
4 1 1 1
7 42




